Matematika A1 vizsg GTK PSz&NG MEGOLDASOK 2024.01.23.

3 00 - {r
)7 lwe Sn='» = M 2T L =0 2 filrol
, M -
0% (wd %0 m»@ 4 . Sovlo b

Aun Z A+ 4
Au 2 Butp a Sovorat Z bl ro?
(it 1 (nez S o od o - Lolobos,
wE (t2) >4 Q\*A)’L(WM) A OT-O Ze?aa%o/“@,-
‘92§+§”<( Z yEt EnE B J odse Lokad:
O<\I\L+Sv\+4 =D Méa'(k'l'/( a4=%:%—
2.) 6p » !
. ( -/ =
o@vﬁ' RN ?Oj X=0 satada’s C@ZX _3
Z{w\/ /{ _ __/_1__ _ .0 AX =0
X0t @ 4 O — )Oo:&/t/b




3.) 6p
LA0<)= 20+ 8{x =X x 20

a'v)=4 —f  bty-0 4L =/
< \x

o o lic| (e, 20) (=4 X-=16 (x20)
4 + J — 4(/r5>:,20*‘3ﬁ_6h’//g:34
a_ —7 | MAX T~

36 ern fowbt/— A URX. éowz,a/(/

4.) 10 : :
p oﬂaﬁ R e balydl o (xFezt) = - (x+4)”

XA:O ) Xz,?) = -/1

A e é/:;eC- M

Livw (1) (x342xT4x) = - '
X_>oo( (X X +X)" oo ,}(é‘;{tg/’)(/é"'thfX):M



x| (oo A)| A fa4) [ (4 12)
Lviglé—-j/’_" 7()— ol + |o| —
é(—ﬂ):o é(,g)?_z[‘_l
¢ frog) |2 [(51
éX -’:_[-[ ,)LI —+ ol —
= -2
T3 1| N
N
o L4727 j{f e
/’,
..___*//, : .‘ >
-4 —z A
3 3




5.) 4+5p

4) /Xg.gm(hxl’) olx :-zlxi .m(4+><4)+(,

- - - X 7 X - X -X .
&) /xz'@XdX:‘XZ'GXJr (127 dy = e = 2xe + [2e” dx =
-x
= (_X?_’ZX ~2) ¢ tc

0. / 4
o f/((x)=ﬂz§_-x1=36<_
(£0)) = 3x

A73 1

[ 2 A
J - /WJX“ | g'L'm)O:Z?(X%FZ%
o

o)



